Appendix A: Tortuosity traits
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Then the curve’s arc and chord lengths are

Let ¥ be a R? curve: y(t) = ], where t is a parameter defined on a segment t € [a, b].

m” dt, and Le(y) = ||7(5 - m”, respectively, and m = f}:%g]
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The ratio of the curve’s arc and chord lengths:

Ty = La(v)/Le(y)

x' )y (©)-x"" )y’ (©)
V@]’

The curvature of the curve yis k(t) =

The total curvature over the whole segment and total squared curvature, respectively:
T, = ff k(t)dt, Ty = ff k2 (t)dt.

The total curvature and total squared curvature are normalized by the curve’s arc length:
Ty = [ x()dt/La), Ts = [L 2©dt/Lay).

The same measures are normalized by the curve’s chord lengths:

To = [, w(Odt/Le(y), T; = [ 2 @©)dt/Le ).

NB: The given set of measures was computed for the given curves at the set of points defined by given
resolution of the vessel branch. The skeleton for the vessel map as computed by the segmentation
algorithm might turn out noisy. A smoothing approximation of the branch contour with an interpolated
set of contour coordinates was implemented. Thus, each tortuosity trait (T; through T,) was computed
for sampled and smoothed coordinates.

Another feature weights smoothed (interpolated) value against sampled value for the curve’s arc:

Tratio = La (Yinterp)/Lc/l (Ysamp)

Appendix B: Fractal traits

Per-scale vectors: box size (s = [1024 512 ... 1]), resolution (r = 1/s), normalized resolution ( x =
r /1), box counts (c), and FD trait vector (y = log ¢/log x). Vectors have dimension of 8, but normalized
resolution in the first scale is 1, and the FD trait in the first scale is not defined and never used.



